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_E7 A1 AE E9 85 8D E7 ¢100 140860.htm [0 OJ I You are the
network administrator for Pcjob. The network consists of an Active
Directory domain named PCjob.com. The domain contains
computers running Windows 2000 Server, Windows 2000
Professional, and Windows NT Server 4.0. For the 10.200.100.0/24
network, ServerB is configured with a single DHCP scope that has an
IP address range from 10.200.100.10 to 10.200.100.100. All network
computers are on a single physical segment. Several users on the
network report that they cannot connect to certain file and print
servers, but they can connect to each other’ scomputers. All other
users on the network are able to connect to all network resources.
You run the ipconfig.exe command on an affected computer named
Clientl and receive the results shown in the following table:1P
Address 10.200.200.10Subnet Mask 255.255.255.0Default Gateway
10.200.100.1DHCP Server 10.200.100.5DNS Server
10.200.100.6Primary Wins You need to ensure that all client
computers can communicate with all other hosts on the network.
Which computer should you reconfigure? [1 1 PCjob [0 [J [0 [
JO0o0doboboooouooboondodPCjob.comd O
O 0000 0O Windows 2000 Server] Windows 2000 Professional
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answer, Oselect the appropriate Computer in the network diagram.
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